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Geometry CC — Mr. Valentino Name:
Unit 12 Day 7: Super Circles Day 1 Date: Per:

Aim: How can we solve "Super Circles?”

Do Now:

SUPER CIRCLES — Woah!
1. In the diagram, isosceles triangle ABC is inscribed in circle O, and vertex angle BAC measures 40°. Tangent PC,
secant PBA and diameters BD and AE are drawn. Find:
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3. Incircle O, MN is a tangent, NP is a diamefer, MQ is a secant, 05 is a radius, m@N= 160, and mzPNS=40
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4. In the accompanying diagram, PA is a tangent to
circle O at point 4, secant PBD intersects diameter
AC at point E, m<£P = 40, and mCD:mDA= 1:8. _
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